Three children are
weighing potatoes
and flour.

The potatoes weigh more )

because the arrow is
further than the arrow on

the flour scale. y

The flour weighs less (e]o)
because 2 is less than 700 g

Brahma
T The flour weighs more
because 2 kg is more than

Raegan /00 g

Who do you agree with?
Explain your answer.

| féﬂ' My measurement weighs

Use the clues to work out who has which
measurement.

My measurement
-

@ weighs more than %of
Angelina 10 ke

f‘

My measurement

cO

weighs 2 % kg more than Z

Demi’s item.
. Brad

‘

more than 2 kg but less
Demi than 5000 g

5kgand 600 g

5 ke 2kgand 500 ¢ |




